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Related Works
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Methods

Fusion-in-Decoder YA 2 2 g LA MY &l X[A= Z-ESIH RAGS| end-to-end t5 58 = FXI
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d(z) = BERT4(z), q(z) = BERT,(x)
py(zlx) = d(2)'q(x)

py(Z1x) = top—k (py(210)),  Z={z1,75, .., 2}
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Methods
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Experiments
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Results

A A0 X OHENM FALEE Sl EA0| dsS A= As =olgd = US
All Has Answer
Model Temperature
EM F1 EM F1
RAG-Token X 53.14 | 66.53 | 67.41 | 86.08
RAG-Sequence X 50.25 | 62.93 | 64.30 | 81.59
1 17.97 | 42.12 | 5.67 | 50.56
2 15.08 | 42.28 | 11.37 | 50.95
RAG-FiD
5 29.88 | 51.11 | 24.09 | 60.02
10 23.7 | 51.52 | 18.73 | 64.47
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